New buildings by place, district and time, 1966-2009

1966 1967 1968 1969 1970 1971 1972 1973 1974 1975 1976 1977 1978 1979 1980 1981 1982 1983 1984 1985 1986 1987 1988 1989 1990 1991 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009

Town
Nanortalik 21 25
Qagqortoq 48 47
Narsaq 35 43
Paamiut 92 35
Nuuk 192 130
Maniitsoq 15 74
Sisimiut 36 49
Kangaatsiaq - -
Aasiaat 26 37
Qasigiannguit 31 44
Tlulissat 41 28
Qeqertarsuaq 8 4
Uummannaq 6 7
Upernavik 6 7
Qaanaaq - -
Ammassalik 7 14
Illoqqortoormiut 1 6
Total 565 550

Village
Nanortalik 7 8
Qagqortoq - -
Narsaq 2 -
Paamiut 1 1
Nuuk 5 -
Maniitsoq 5 6
Sisimiut - 1
Kangaatsiaq 5 1
Aasiaat - -
Qasigiannguit - -
Tlulissat - -
Qegertarsuaq - -
Uummannaq 3 3
Upernavik 8 6
Qaanaaq - -
Ammassalik 27 10
Illogqortoormiut - 1
Total 63 37

Archieved

Latest update: 20100809 09:00
Source: Statistics Greenland
Units: Number of dwellings
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